9% =H M7 F TEAA (&% 2571=)
w2 REE AFA AE ot ool M2, & %, $/kg
o 2007 98 2007 98l (=H) SLE(EE) SHEEA) FTECHEA)
o = 2 &g 2 &g e z2 | 29 [ == | 20064 [ 20074
= 1,036,163 199,299| 10,062,783 1,991,827 -16.3| -16.0 06| -0.3 5.00 5.05
1 == 204,219 32,945 2,104,148| 347,186 -16.7| -18.8 -2.3| -9.0 5.64 6.06
2 o|= 130,073 25212 1,317,184| 266,332 -28.0| -20.3| -145| -55 5.47 4.95
3 Hl E = 87,996 12,448 764,097 107,186 13.3 8.1 19.0 11.7 6.69 7.13
4 == 69,051 10,193 672,735 107,065 -14.3| -16.1 7.2 7.3 6.29 6.28
5 ol =L Alot 53,988 7,390 568,241 82,954 -30.2| -29.5 2.4 2.8 6.87 6.85
6 =T 56,227 7,569 492,165 72,094 -25.7| -21.3 -49| -22 7.02 6.83
7 | otgfolo|2|E A%t 31,142 5,278 269,154 47,479 6.6 4.9 5.8 7.5 5.76 5.67
8 | AbClotztu|o} 17,584 3,099 210,157 35,886 -1.4 4.3 3.1 4.3 5.92 5.86
9 s 21,661 3,491 207,378 49,194 -2.9| -31.9 296 23.0 4.00 4.22
10 17| 23,312 4,169 199,752 37,519 -0.1 -5.7 159 -6.2 4 .31 5.32
11 el 15,570 3,584 182,469 38,144 -43.6| -31.5| -185| -5.3 5.56 4.78
12 ThE| 22} 13,985 2,112 148,719 22,462 -423| -418| -29.6| -34.7 6.14 6.62
13 =TS 14,208 1,729 141,057 17,344 6.1 14.0 451 | 45.0 8.13 8.13
14 TS 13,747 3,334 139,620 31,929 7.5 12.5 53.2| 26.7 3.62 4.37
15 ol &2/ o} 12,193 2,757 129,474 30,114 6.5 6.2 13.4| 17.6 4.46 4.30
16 A= 14,985 3,718 122,323 32,069 12.9 8.5 17.0| 16.2 3.79 3.81
17 Z=C|ot 13,592 4,454 119,001 46,751 -9.3| -17.3 36.8| 10.7 2.06 2.55
18 Ef = 10,683 2,201 113,903 25,178 -245| -23.3 241 11.4 4.92 4.52
19 2{A|of odgt 12,031 3,662 106,987 33,252 -26.0| -35.2 25| -3.0 3.04 3.22
20 A 2 9,517 2,064 97,930 24,525 32| -13.1 21.8 5.9 3.47 3.99
21 AR 10,107 2,737 96,823 25,051 -27.4 | -25.7 0.8 -2.1 3.75 3.87
22 grZaiH|Al 9,168 1,359 90,727 14,801 -32.9| -206]| -17.0| -17.4 6.10 6.13
23 olC|ok(2lE) 10,914 4,056 90,682 37,698 -10.0| -16.0 -5.9| -10.1 2.30 2.41
24 ch et 8,685 1,942 89,153 20,400 -35.7| -448| -19.0| -25.9 4.00 4.37
25 Fteict 7,960 1,885 88,579 18,181 -24.6 12.6| -11.6| -16.1 4.63 4.87




o2 =E MR TeUAA (&9 2574=)
¥ 2 XAE= FHEA AR U Chel: M2, E, %, $/kg
o 20074 9¥ 2007 9L (A SHEEH) SHEEA) AT HEA)
il = 3o zg 3o z2 | =% [ z= | =9 | z= | ooced [ 2o07s
A 817,548 115,668] 6,463,874 1,059,033 -2.1 -11.8 10.2 3.9 5.75 6.10
1 == 541,095 71,601 4,014,925 614,742 -1.9 -10.1 15.3 8.7 6.16 6.53
2 o|&rz| o} 40,108 461 392,293 5,598 -12.6 -40.3 6.2 | —-24.6 49.74 70.08
3 Lz 31,045 4,691 318,214 45,637 -11.2 -5.0 -0.9 2.3 7.20 6.97
4 2l Alot 19,070 6,071 199,188 69,055 -11.5 -12.3 2.8 3.1 2.89 2.88
5 elcjoHelE) 19,156 5,954 180,275 57,268 -30.0 -36.1 -16.0 | —-17.4 3.09 3.15
6 o= 20,000 2,348 178,645 21,269 6.4 -2.9 6.3 12.6 8.90 8.40
7 H EE 23,453 5,978 175,579 54,209 23.1 13.5 33.5 28.4 3.12 3.24
8 CHet 9,260 3,539 123,058 54,382 -22.5 -33.1 1.1 -1.2 2.21 2.26
9 Ef = 8,566 1,970 87,525 22,078 -21.6 -21.6 -10.5 -7.8 4.09 3.96
10 7| A et 6,560 2,876 76,904 35,077 —26.1 -29.3 -18.2 | -20.0 2.14 2.19
11 zEA 5,699 72 71,125 1,051 -41.0 -39.0 -17.8 0.9 83.15 67.70
12 = 4,934 361 58,372 5,253 -34.1 -43.6 3.5 0.7 10.82 11.11
13 Aq= 5,074 363 55,187 5,083 -22.5 -37.3 -9.1 | -30.4 8.32 10.86
14 AEZ|o} 4,116 1,455 49,500 17,306 -37.1 -40.3 15.8 12.8 2.79 2.86
15 g3 4,723 107 42,171 1,433 —43.5 -53.8 -18.1 -24.5 27.13 29.42
16 2taj| o| X[ ot 4,277 1,428 35,065 10,202 18.1 12.0 56| -12.1 2.86 3.44
17 E{7| 3,149 230 32,768 2,073 -15.9 -10.2 4.7 4.7 15.81 15.81
18 HEzte 1,871 70 28,889 1,983 -34.2 —66.6 7.7 9.9 14.87 14.57
19 zz|m 1,882 136 22,271 1,759 -13.8 -12.8 65.1 45.6 11.17 12.66
20 Fhtct 1,856 303 21,5637 3,543 -13.5 -12.5 0.7 2.6 6.19 6.08
21 o|ekat 3,537 346 19,970 1,635 77.2 130.8 66.6 62.4 11.90 12.21
22 HAIZ 2,027 100 18,349 955 12.2 -16.0 25.6 | -10.3 13.72 19.21
23 AQA 1,658 22 17,565 290 53.3 -31.8 -3.0 —-491 31.80 60.67
24 Aol 1,388 55 14,584 833 —42.4 -71.6 -28.0 | -52.2 11.62 17.51
25 sF 1,426 173 14,217 1,304 2.4 105.4 15.6 17.1 11.04 10.91




